




















fooa HA &34l (Jl 3¥ 54 Q G
35 MPa £,E400 90 KN 170 KN
n Vs O\E‘i&ﬁ\ g_j.:\i’l“
1,6 1,15 ber 3l c=5cm
skl faoS
coolaadl gl C.\.‘..d\ %u .01
Claladl pue Lo e 525,02
-4 ey 778103
¢ okl Jy o
O gl el (e 232] (cm2)— adadall Dkl
10 9 8 7 6 5 4 3 2 1 mm
502 | 452 | 4,01 | 3,51 | 3,001 | 2,51 | 2,01 | 1,50 | 1,00 | 0,50 8
7,85 | 7,06 | 6,28 | 549 | 4,71 | 3,92 | 3,14 | 235 | 1,57 | 0,78 10
11,31 | 10,18 | 9,05 | 7,92 | 6,78 | 5,65 | 452 | 3,39 | 2,26 | 1,13 12
15,39 | 13,85 | 12,31 | 10,77 | 9,23 | 7,69 | 6,15 | 4,62 | 3,08 | 1,54 14
20,10 | 18,09 | 16,08 | 14,07 | 12,06 | 10,05 | 8,04 | 6,03 | 4,02 | 2,01 16
31,41 | 28,27 | 25,13 | 21,09 | 18,84 | 15,70 | 12,56 | 9,42 | 6,28 | 3,14 20
49,09 | 44,18 | 39,27 | 34,36 | 29,45 | 24,54 | 19,63 | 14,73 | 9,82 | 491 25
80,412 | 72,38 | 64,34 | 56,26 | 48,25 | 40,21 | 32,17 | 24,12 | 16,08 | 8,04 32
125,65 | 113,09 | 100,53 | 87,96 | 75,39 | 62,83 | 50,26 | 37,70 | 25,13 | 12,56 40
A OB e -
Agpn = NSZ-“?R Nsgr = G +Q Fsy = fe/vs
Og
A, = Ny Ny = 1.35G + 1.5Q fi2s = 0,6 + 0,06f 5
fsu
As . fe 2 B. ftyg Ost , Ost )
= min{gfe; 110 n.ftzg} = min{zfe; 90 n.ftzg}
As = max{Au ;Ager}
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